
e.54
 

e.
50

,7

i.5
4 

 160 

Aluminium spacer
Ø22X8.5
Cod.205090

Knurled collar 
nut M10
Cod.200607

Pipe N° 1297 titanium
Cod.3015239203

Short helical spring
tensile
Cod.303949001

LV-10 Silencer RHS
titanium
Cod.309768481

Allen screw
M10X60 T.C.E.I. Z.B.
Cod.200651

Allen screw
M8X20 T.C.E.I. Z.B.
Cod.200722

Carbon Bracket
Cod.0815204001

Knurled collar 
nut M8
Cod.200298

Aluminium spacer
Ø30X13X16.5
Cod.206307

E57 92R-02 0017

PLEASE DO NOT REMOVE
ORIGINAL BUSHING

10
4 

ART. 15239T          

KAWASAKI Z900 

SLIP-ON -  LV-1O -  TITANIUM - APPROVED 


	DT-15239T
	Vista del disegno21
	Vista del disegno22


